
Recipes
 Dovetail Mounts

XD/M Burris/Venom Dovetail - SP0124 QTY
(long set) 6-32 x 3/8" FHCS 2
(short set) 6-32 x 5/16" FHCS 2
4-40 x 3/16" cup pt socket set screws 2
4-40 x 1/8" nylon tipped set screws 2
5/64" Hex L-Wrench 1
.050" Hex L-Wrench 1
Blue VibraTite bullet bottle 1.9mL 1

XD/M Trijicon RMR Dovetail - SP0125 QTY
6-32 x 7/16" FHCS 2
4-40 x 1/8" nylon tipped set screws 2
4-40 x 3/16" cup pt socket set screws 2
5/64" Hex L-Wrench 1
.050" Hex L-Wrench 1
Blue VibraTite bullet bottle 1.9mL 1

XD/M RTS2/STS/Razor/Romeo3 Dovetail - DC014 QTY
8-32 x 1/2" Low Head Cap Screw (or .520") 2
4-40 x 1/8" nylon tipped set screws 2
4-40 x 3/16" cup pt socket set screws 2
5/64" Hex L-Wrench 1
.050" Hex L-Wrench 1
Blue VibraTite bullet bottle 1.9mL 1

Glock Burris/Venom Dovetail - SP0508 QTY
6-32 x 3/8" FHCS 2
6-32 x 5/16" FHCS 2
4-40 x 1/8" nylon tipped set screws 2
4-40 x 3/16" cup pt socket set screws 2
5/64" Hex L-Wrench 1
.050" Hex L-Wrench 1
Blue VibraTite bullet bottle 1.9mL 1

Glock RTS2/STS/Razor/Romeo3 - DC012 QTY
8-32 x 1/2" Low Head Cap Screw (or .520") 2
4-40 x 1/8" nylon tipped set screws 2
4-40 x 3/16" cup pt socket set screws 2
5/64" Hex L-Wrench 1
.050" Hex L-Wrench 1
Blue VibraTite bullet bottle 1.9mL 1



Sig P320 Romeo3 Dovetail - SP0227 QTY
6-32 x 7/16" SHCS 2
4-40 x 1/8" nylon tipped set screws 2
4-40 x 3/16" cup pt socket set screws 2
7/64" Hex L-Wrench 1
.050" Hex L-Wrench 1
Blue VibraTite bullet bottle 1.9mL 1

CZ 75 Trijicon RMR Dovetail - SP0305 QTY
6-32 x 7/16" FHCS 2
4-40 x 1/8" nylon tipped set screws 2
4-40 x 3/16" cup pt socket set screws 2
5/64" Hex L-Wrench 1
.050" Hex L-Wrench 1
Blue VibraTite bullet bottle 1.9mL 1

CZ P09/P07 Trijicon RMR - SP0329 QTY
6-32 x 7/16" FHCS 2
4-40 x 1/8" nylon tipped set screws 1 Front
4-40 x 3/16" nylon tipped set screws 1 Rear
4-40 x 3/16" cup pt socket set screws 2
5/64" Hex L-Wrench 1
.050" Hex L-Wrench 1
Blue VibraTite bullet bottle 1.9mL 1

CZ 75 Burris/Venom Dovetail - SP0304 QTY
6-32 x 3/8" FHCS 2
6-32 x 5/16" FHCS 2
4-40 x 1/8" nylon tipped set screws 2
4-40 x 3/16" cup pt socket set screws 2
5/64" Hex L-Wrench 1
.050" Hex L-Wrench 1
Blue VibraTite bullet bottle 1.9mL 1

CZ P09/P07 Burris/Venom Dovetail - SP0328 QTY
6-32 x 3/8" FHCS 2
6-32 x 5/16" FHCS 2
4-40 x 1/8" nylon tipped set screws 1 Front
4-40 x 3/16" nylon tipped set screws 1 Rear
4-40 x 3/16" cup pt socket set screws 2
5/64" Hex L-Wrench 1
.050" Hex L-Wrench 1
Blue VibraTite bullet bottle 1.9mL 1



CZ75 Shadow/Kadet Burris/Venom Dovetail - SP0306 QTY
6-32 x 3/8" FHCS 2
6-32 x 5/16" FHCS 2
4-40 x 1/8" nylon tipped set screws 2
4-40 x 3/16" cup pt socket set screws 2
5/64" Hex L-Wrench 1
.050" Hex L-Wrench 1
Blue VibraTite bullet bottle 1.9mL 1

CZ75 Kensight Burris/Venom Dovetail - SP0317 QTY
5-40 x 1/2" FHCS 2
4-40 x 3/16" cup pt socket set screws 2
4-40 x 1/8" nylon tipped set screw (muzzle) 1
4-40 x 3/16" cup pt ss set screw (rear) 1
5/64" Hex L-Wrench 1
.050" Hex L-Wrench 1
Blue VibraTite bullet bottle 1.9mL 1

XDM 5.25 Mounts
XDM 5.25 Trijicon RMR - SP0143 QTY

M3x8 FHCS 1
5/40 x 1/2" (trim to .410-.420) FHCS 2
5/64" Hex L-Wrench 1
Blue VibraTite bullet bottle 1.9mL 1

XDM 5.25 Burris/Venom/Viper/Docter - SP0147 QTY
M3x8 FHCS 1
5-40 x 3/8" FHCS 2
5-40 x 5/16" FHCS 2
5/64" Hex L-Wrench 1
Blue VibraTite bullet bottle 1.9mL 1

XDM 5.25 Leupold Deltapoint - SP0146 QTY
M3x8 FHCS 1
5-40 x 3/8" FHCS 2
5/64" Hex L-Wrench 1
Blue VibraTite bullet bottle 1.9mL 1
**FOR DP PRO - 5-40 x 5/8 FHCS 2

XDM 5.25 RTS2 - DC013 QTY
M3x8 FHCS 1
8-32 x 1/2" Low Head Cap Screw 2
5/64" Hex L-Wrench 1
Blue VibraTite bullet bottle 1.9mL 1



Sig X5 Mounts
X5 RTS2/Romeo3/Razor/STS - SP0226 QTY

6-32 x 7/16" SHCS (Romeo3) 2
6-32 x 1/2" SHCS (STS/RTS2) 2
4-40 x 3/16" SHCS 2
7/64" Hex L-Wrench 1
3/32" Hex L-Wrench 1
Blue VibraTite bullet bottle 1.9mL 1

X5 Trijicon RMR - SP0224 QTY
4-40 Press Fit Nut 2
6-32 x 7/16" FHCS 2
4-40 x 3/16" SHCS 2
5/64" Hex L-Wrench 1
3/32" Hex L-Wrench 1
Blue VibraTite bullet bottle 1.9mL 1

X5 Deltapoint Pro - SP0225 QTY
6-32 x 3/4" FHCS 2
4-40 x 3/16" SHCS 2
5/64" Hex L-Wrench 1
3/32" Hex L-Wrench 1
Blue VibraTite bullet bottle 1.9mL 1

X5 Burris/Venom - SP0223 QTY
4-40 Press Fit Nut 2
4-40 x 3/16" SHCS 2
6-32 x 3/8" FHCS 2
6-32 x 5/16" FHCS 2
5/64" Hex L-Wrench 1
3/32" Hex L-Wrench 1
Blue VibraTite bullet bottle 1.9mL 1

Sig M17/X-Compact/X-Five Legion Mounts
Trijicon RMR - SP0245 QTY

4-40 Press Fit Nut 2
6-32 Press Fit Nut 2
4-40 x 3/16" SHCS 2
6-32 x 7/16" FHCS 2
5/64" Hex L-Wrench 1
3/32" Hex L-Wrench 1
Blue VibraTite bullet bottle 1.9mL 1



Venom/Burris WITH DOVETAIL- SP0246 QTY
4-40 Press Fit Nut 2
6-32 Press Fit Nut 2
4-40 x 3/16" SHCS 2
6-32 x 3/8" FHCS 2
6-32 x 5/16" FHCS 2
5/64" Hex L-Wrench 1
3/32" Hex L-Wrench 1
Blue VibraTite bullet bottle 1.9mL 1

Trijicon RMR WITH DOVETAIL - SP0247 QTY
4-40 Press Fit Nut 2
6-32 Press Fit Nut 2
4-40 x 3/16" SHCS 2
6-32 x 7/16" FHCS 2
5/64" Hex L-Wrench 1
3/32" Hex L-Wrench 1
Blue VibraTite bullet bottle 1.9mL 1

Slide Milling
Vortex Venom QTY

6-32 x 7/16" FHCS 2
5/64" Hex L-Wrench 1
Blue VibraTite bullet bottle 1.9mL 1

Luepold Deltapoint Pro QTY
6-32 x 3/4" FHCS, shorten slightly 2
5/64" Hex L-Wrench 1
Blue VibraTite bullet bottle 1.9mL 1

Sig Romeo1 QTY
6-32 x 3/8" SHCS 2
7/64" Hex L-Wrench 1
Blue VibraTite bullet bottle 1.9mL 1

Trijicon RMR QTY
6-32 x 1/2", FHCS shorten 2
5/64" Hex L-Wrench 1
Blue VibraTite bullet bottle 1.9mL 1

Vortex Viper QTY
6-32 x 3/8" FHCS 2
5/64" Hex L-Wrench 1
Blue VibraTite bullet bottle 1.9mL 1

Magwells
XDM (P320) ESP/LTD - SP0128 (CCP - SP0129) QTY

8-32 x 3/8" cup pt socket set screw 1
5/64" Hex L-Wrench 1
Blue VibraTite bullet bottle 1.9mL 1



CZ P09 - SP0314 QTY
6-32 x 1/4" SHCS - polish head to fit magwell 1
Insert Rod by Smith Bros. - part #CZP09 1
7/64" Hex L-Wrench 1
Blue VibraTite bullet bottle 1.9mL 1

CZ75 ESP - SP0319 / LTD - SP0320 QTY
4-40 x 3/16" nylon tipped set screws 2
6-32 x 1/4" SHCS - shorten to .350" OAL 1
Round Bushing-Hammer Spring spacer 1
Insert Rod by Smith Bros. - part #CZ75 1
.050" Hex L-Wrench 1
Blue VibraTite bullet bottle 1.9mL 1

SSS M&P ESP/LTD (Original & 2.0) QTY
4-40 x 3/8" UNC Button Head Socket cap screw, item 
#05314045 1
1/16" Hex L-Wrench 1
#003 1/16" inside x 3/16" outside Buna-N O-Ring 1/16" 
Thick, item #09260035 1

MPX Magwell - SP0228 QTY
6-32 x 3/16" cup pt socket set screw 1
1/16" Hex L-Wrench 1

FN 509 - SP0806 QTY
6-32 x 3/8" SHCS - cone pt set screw 1
1/16" Hex L-Wrench 1
Blue VibraTite bullet bottle 1.9mL 1

Beretta M92 Magwell - SP0605 QTY
SP0606 Mainspring Housing insert 1
4-40 x 5/16" SHCS 1
3/32" Hex L-Wrench 1
Roll Pin Metric 3x20 1
Blue VibraTite bullet bottle 1.9mL 1

Pin Punch Sets QTY
Mayhew 25002 3/32" Pro #3 Pilot 1
Mayhew 21003 5/32" Pro Pin Punch 1
Mayhew 21001 413-3/32" Pin Punch 1
Mayhew 21000 413-1/16" Pink Punch 1
Mayhew 21005 Pro 1/4" Pin Punch-modified by machine 
shop 1

XDM Tungsten Guide Rod Inserts

Spring #B4-69 from Century Springs (Rebound Spring) 1
Tungsten Piece - .3" diameter, 2.45" length 1
Brass Piece - .3" diameter, .56-.57" length 1



Quick Connect System
QC Set - SP20016 QTY

QC Female 1
QC Lg Male (SP20010) -OR- Med Male (SP20011) -OR- Sm 
Male (SP20012) 1
8-32 x 1/2 knurled thumb screw 1
Lock Washer (#8) 1
8-32 x 7/16 Cup pt socket set screw 1
8-32 x 5/16 Phillips Head w/external tooth lock washer 2
8-32 x 1/4 Low Head Cap Screw 2
8-32 x 3/8 Low Head Cap Screw 2
8-32 x 1/2 Low Head Cap Screw 2
5/64 Hex L-Wrench 1

QC Female single - SP20009 QTY
QC Female 1
8-32 x 1/2 knurled thumb screw 1
Rubber Washer 1
8-32 x 7/16 Cup pt socket set screw 1
8-32 x 1/4 Low Head Cap Screw 2
8-32 x 3/8 Low Head Cap Screw 2
8-32 x 1/2 Low Head Cap Screw 2
5/64 Hex L-Wrench 1

QC Male single - SP20010/SP20011/SP20012 QTY
QC Lg Male (SP20010) -OR- Med Male (SP20011) -OR- Sm 
Male (SP20012) 1
8-32 x 5/16 Phillips Head w/external tooth lock washer 2

QC Bladetech Holster Attachment single - SP20013 QTY
QC Bladetech Holster Attachment 1

QC Safariland Holster Attachment single - SP20014 QTY
QC Safariland Holster Attachment 1

QC Safariland Belt Attachment single - SP20015 QTY
QC Safariland Belt Attachment 1
1/4 Chickago Screws Female 2
8-32 x 3/8 FHCS 2
3/32 Hex L-Wrench 1


	Sheet1

